Slope Intercept Form HW Day 1 Name

1. Find the slope through points (-5, 14) and (-1, 2) 6. Graph: y = %x -6
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2. Find the slope through points (-5, 6) and (8, 6) Jr
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3. A pediatrician uses the model above to estimate the -0p
height h of a boy, in inches, in terms of the boy's
age &, in years, between the ages of 2 and 5. Based
on the model, what is the estimated increase, in
. ' 7. h: y=-2
inches, of a boy’s height each year? Graph: y x+3
Ay 3 10F
B) 57 o
C) 95 ii
D) 14.3 o
08 6 4 2 [ 2 4 B 810
o3
4. Which equation describes the line with a slope A
of 5 and y-intercept of —3? il
Ay=-3x+5 Cy=5x-3 13

By=3x-5 Dy=5x+3
8. Graph: y = —§x+5

5.What is the equation in slope intercept form for sl
the graph? &L
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Equation:




9. Alocal club charges an initial membership fee as Membership Cost

well as a monthly cost. The cost is a I?near function of Time | s} Cost [§]
the number of months of membership.
0 100
Write a linear function in slope intercept form to 3 277
describe this situation. b 454
10. Andrew wants to buy a smart phone that costs Amount Andrew Owes
$500. His parents will pay for the phone then Andrew "
will pay them $50 each month until the entire amount is igg
repaid. _a00t
. . Lo . w 350 1
a. Write a linear function in slope intercept form to 2 300
. . . . : T
describe this situation. E 250 +
< 20071
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b. What does the slope represent? What does the y 0 1234567809
intercept represent? Time (Months)

c. Graph this function on the graph to the right.

CHALLENGE: Write an equation of a line in slope intercept form that passes through the points (3, 4) and (7, 8)



